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Answer all the questions.  

 

1 A crèche is: 

 

(a) a young people’s care setting  

   

(b) a residential care setting  

   

(c) a health care environment  

   

(d) a childcare environment  

 [1] 

 

2 COSHH stands for: 

 

(a) Control of Substances Hazardous to Humans  

   

(b) Control of Significant Health Hazards  

   

(c) Control of Substances Hazardous to Health  

   

(d) Control of Serious Health Hazards  

 [1] 

 

3 This safety sign means: 
 

 
 

(a) No access for unauthorised persons  

   

(b) No exit  

   

(c) No parking  

   

(d) No hand signals  

 [1] 
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4 Which disease must be reported, according to the Reporting of Injuries, Diseases and Dangerous 
Occurrences Regulations (RIDDOR)?  
 

(a) bronchitis  

   

(b) meningitis  

   

(c) osteoporosis  

   

(d) tonsillitis  

 [1] 

 

5 The correct fridge temperature for safe food storage is between: 
 

(a) 0°C and 5°C  

   

(b) 5°C and 10°C  

   

(c) 0°C and 8°C  

   

(d) 8°C and 18°C  

 [1] 

 

6 There is water on the floor by the front door.  What should your first response be? 
 

(a) put a ‘wet floor’ sign in place  

   

(b) inform your supervisor  

   

(c) inform the caretaker  

   

(d) get a mop and clear it up  

 [1] 

 

7 Which of the following is a security measure? 
 

(a) having regular fire drills  

   

(b) following correct handwashing procedures  

   

(c) wearing staff lanyards  

   

(d) carrying out risk assessments  

 [1] 
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8 Which is the first action to take in the event of a fire? 
 

(a) call 999  

   

(b) raise the alarm  

   

(c) carry out a head count  

   

(d) leave the building  

 [1] 

 

9 The term ‘equality’ means: 
 

(a) treating everyone the same  

   

(b) giving everyone the same amount of time  

   

(c) treating everyone according to their needs  

   

(d) giving everyone the same activities  

 [1] 

 

10 Which of the following is an example of supporting diversity at a nursing home? 
 

(a) the same meal is provided for everyone    

   

(b) meal times are the same for everyone  

   

(c) food is not available between mealtimes  

   

(d) a menu with vegetarian options is available  

 [1] 

 

11  Which of the following is a protected characteristic identified in the Equality Act? 
 

(a) childhood  

   

(b) gender  

   

(c) sex  

   

(d) young people  

 [1] 
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12 What should you do to challenge discrimination?  
 

(a) contact someone from the Equality Act  

   

(b) shout at the person discriminating  

   

(c) challenge the person discriminating  

   

(d) ignore the person discriminating  

 [1] 

 

13 Which of the following is a way of valuing diversity in a hospital? 
 

(a) staff spending exactly the same amount of time with each patient  

   

(b) arranging for a priest to meet with each patient  

   

(c) a prayer room is available for patients to use  

   

(d) staff only allow two visitors for each patient  

 [1] 

 

14 Which one of the following comments is an example of stereotyping? 
 

(a) ability, not gender, affects children’s progress at school  

   

(b) in general, and in most hospitals, midwives are always women  

   

(c) many older adults continue to live independently into their 90s  

   

(d) there are probably an equal number of male and female GPs  

 [1] 

 
15 Which of the following is a value of care? 

 

(a) ensuring discriminatory practice  

   

(b) treating people equal and the same  

   

(c) maintaining confidentiality    

   

(d) promoting a groups’ rights and beliefs  

 [1] 
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16 Which of the following is a piece of legislation that supports a person-centred approach? 
 

(a) The Human Rights Act    

   

(b) The Individual Rights Act  

   

(c) The Human Rights Protection Act  

   

(d) The Protection of Human Rights Act  

 [1] 

 

17 Part of the role of the Equality and Human Rights Commission is to: 
 

(a) pass laws to protect individuals’ rights  

   

(b) fine organisations that do not promote equality  

   

(c) carry out inspections to ensure individual rights are promoted  

   

(d) provide advice about equality issues  

 [1] 

 

18 Working in a person centred way involves: 
 

(a) practitioners working together with an individual  

   

(b) 
practitioners making care decisions for an individual on the care to be 

provided 
 

   

(c) practitioners deciding what type of care is best for an individual  

   

(d) 
practitioners consulting individuals before deciding on the care to be 
provided 

 

 [1] 

 

19 Choose the early years value of care from the list below: 
 

(a) the welfare of the individual is most important  

   

(b) promoting children’s welfare  

   

(c) encouraging children’s welfare  

   

(d) the welfare of the child is paramount  

 [1] 
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20 The Care Certificate, Standard 5, is about promoting person-centred values. Which of the 

following is one of these values? 

 

(a) redress    

   

(b) reflect  

   

(c) respect  

   

(d) respond  

 [1] 

 

21 Choose the statement that best describes the term ‘safeguarding’. 
 

(a) promoting independence  

   

(b) ensuring individuals get their rights  

   

(c) keeping someone safe from harm  

   

(d) dealing with complaints about abuse  

 [1] 

 

22 The initials DBS stand for: 
 

(a) Detention and Barring Service  

   

(b) Disclosure and Barring Service    

   

(c) Disclosure Board for Safeguarding  

   

(d) Disclosure of Bullying Service  

 [1] 

 

23 Verbal insults and humiliation are examples of which type of abuse? 
 

(a) emotional  

   

(b) neglect  

   

(c) physical  

   

(d) sexual  

 [1] 
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24 What could make an individual more vulnerable to abuse? 

 

(a) their age  

   

(b) having diabetes  

   

(c) their gender  

   

(d) living in a care setting  

 [1] 

 

25 Choose the correct action to take when someone discloses abuse: 

 

(a) tell them it is a secret and they should not have told you  

   

(b) promise you will keep it a secret because the person asked you to  

   

(c) promise to keep it secret, unless it happens again    

   

(d) tell the person you cannot keep it a secret, you have to tell someone  

 [1] 

 

26 The Care Quality Commission is responsible for: 
 

(a) appointing Child Protection Officers to work in schools  

   

(b) checking services meet the required standards of quality and safety  

   

(c) creating legislation to protect individuals in care settings  

   

(d) producing safeguarding policies for care settings  

 [1] 

 

27 Every Child Matters describes outcomes for children. How many ‘outcomes’ are there? 
 

(a) 3 outcomes  

   

(b) 4 outcomes  

   

(c) 5 outcomes  

   

(d) 6 outcomes  

 [1] 
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28 You do not know what to do about a colleague at work who is providing poor care to individuals.  

Which policy will give you guidance? 

 

(a) bullying policy  

   

(b) confidentiality policy  

   

(c) equal opportunities policy  

   

(d) whistleblowing policy  

 [1] 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

 

Turn over for next question 
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Diagram 1: The diagram below shows the female reproductive organs. 

 

  
 

29 What is part A on Diagram 1? 

 

(a) cervix  

   

(b) fallopian tube  

   

(c) ovary  

   

(d) uterus  

 [1] 

 

30 What is part B on Diagram 1? 

 

(a) cervix  

   

(b) fallopian tube  

   

(c) ovary  

   

(d) uterus  

 

 [1] 

 

31 What is part C on Diagram 1? 
 

(a) cervix  

   

(b) fallopian tube  

   

(c) ovary  

   

(d) uterus  

 [1] 
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32 One of the possible causes of type 2 diabetes is: 
 

(a) being underweight  

   

(b) being overweight  

   

(c) being male  

   

(d) having low blood pressure  

 [1] 

 

33 Peak flow is a measure of: 
 

(a) body mass index     

   

(b) level of cholesterol found in the blood  

   

(c) blood pressure    

   

(d) speed of airflow in and out of the lungs  

 [1] 

 

34 The function of the respiratory system is to: 

 

(a) breakdown food into molecules which are then absorbed    

   

(b) produce hormones that regulate the body’s growth and metabolism  

   

(c) take in oxygen and expel carbon dioxide as we breathe    

   

(d) 
transport nutrients, oxygen, and hormones to cells throughout the 
body 

 

 [1] 

 

35 Which of the following is an example of written communication? 
 

(a) eye contact    

   

(b) gestures  

   

(c) sign language  

   

(d) temperature chart  

 [1] 

 

 

 

 

 
 Turn over 

  



12 
 

© OCR 2016 SPECIMEN 

36 Identify a barrier to communication. 
 

(a) appropriate vocabulary  

   

(b) adapting the environment    

   

(c) use of jargon     

   

(d) use of positive body language  

 [1] 

 

37 Which is not a stage of the communication cycle? 
 

(a) acknowledge  

   

(b) ask questions  

   

(c) inform  

   

(d) invite  

 [1] 

 

38 What is PECS?  
 

(a) a form of British Sign language    

   

(b) a computer-based method of communication  

   

(c) a method of verbal communication  

   

(d) a specialist method of communication    

 [1] 

 

39 A nurse says “Morning Mrs Smith, do you want breakfast today?”  
 

What type of question is the nurse using? 
 

(a) a closed question  

   

(b) an indirect question  

   

(c) an open question  

   

(d) a supportive question  

 [1] 
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40 ‘Pace’ means how: 
 

(a) briefly someone speaks   

   

(b) loudly someone speaks  

   

(c) quickly someone speaks  

   

(d) quietly someone speaks  

 [1] 
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